
© Copyright 170608MV-Rev00, 1/3

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

SUZUKI GSR600   2008

ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FÜR

 ANCLAJE ESPECÍFICO PARA

A
17

0A
 - 

A
17

0A

Q.TY n.2(Dx-Sx)

1

SUPPORTO
SUPPORT
SUPPORT
HALTERUNG
SOPORTE

2

Q.TY n.2

VITE TEF M6x16mm
SCREW
VIS
SCHRAUBE
TORNILLO

3

Q.TY n.6

DADO A.B. M6
FLANGIATO
BOLT M6
ECROU M6
MUTTER M6
TUERCA M6

4

Q.TY n.4

VITE TSCEI M6x20mm
SCREW
VIS
SCHRAUBE
TORNILLO

5

Q.TY n.4

RONDELLA
SVASATA  Ø6mm
200RON
WASHER Ø6mm
RONDELLE Ø6mm
SCHEIBE Ø6mm
ARANDELA VACIADA Ø6mm

Q.TY n.8

6

RONDELLA IN GOMMA
0RONG
RUBBER WASHER
RONDELLE EN CAOUTCHOUC
GUMMI SCHEIBE
ARANDELA DE GOMA

BA



© Copyright 170608MV-Rev00, 2/3

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

SUZUKI GSR600   2008

ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FÜR

 ANCLAJE ESPECÍFICO PARA

A
17

0A
 - 

A
17

0A

7

Q.TY n.-

C

D

1

2

3

3

6

6
5

4

7



1. DEMONTER LES PIECES  D’ORIGINE INDIQUEES EN PHOTOS
A ET B;

2. MONTER LES SUPPORTS  N°1 COMME INDIQUE EN PHOTO
C;

3. MONTER LE PLEXI (NON  INCLUS) COMME INDIQUE EN
PHOTO D ;

4. CONTROLER LE BON  SERRAGE DE TOUTES LES VIS; NE
PAS OUBLIER DE REMONTER LES CACHES EN PLASTIQUE
 D’ORIGINE INDIQUES EN PHOTO D.

INSTRUCTIONS DE MONTAGE MOUNTING INSTRUCTIONS

1. REMOVE ORIGINAL FAIRING PIECES AS SHOWN IN
PICTURE A AND B.

2. PLACE AND INSTALL SCREEN SUPPORT (ITEM 2) AS
SHOWN IN PICTURE C.

3. PLACE AND INSTALL THE SCREEN (NOT INCLUDED) AS
SHOWN IN PICTURE D.

4. RE-INSTALL THE ORIGINAL FAIRING PIECES AS SHOWN
IN PICTURE D AND MAKE SURE THAT ALL THE NUTS AND
BOLTS ARE TIGHTEN APPROPRIATELY.

1. ENTFERNEN SIE DIE ORIGINALTEILE WIE IN DEN
BILDERN A UND B GEZEIGT;

2. MONTIEREN SIE DIE HALTERUNG NR. 1WIE IM BILD
C DARGESTELLT WIRD;

3. MONTIEREN SIE DIE SCHEIBE (NICHT ENTHALTEN)
WIE IM BILD D GEZEIGT;

4. ZULETZT ÜBERPRÜFEN SIE DASS ALLE SCHRAUBEN
FESTGEZOGEN WURDEN. BITTE BEAHTEN SIE, DIE
ORIGINALPLASTIKLEISTE WIE IM BILD D GEZEIGT
WIEDER ZU MONTIEREN.

BAUANLEITUNG

INSTRUCCIONES DE MONTAJE

ISTRUZIONI DI MONTAGGIO

© Copyright 170608MV-Rev00, 3/3

I

DGB F

ES

1. SMONTARE LE PARTI ORIGINALI INDICATE IN FOTOGRAFIA A E B;
2. MONTARE I SUPPORTI N°1 COME INDICATO IN FOTOGRAFIA C;
3. MONTARE IL PLEX (NON INCLUSO) COME INDICATO IN FOTOGRAFIA D;
4. CONTROLLARE DI AVER SERRATO BENE TUTTE LE VITI; RICORDARSI DI RIMONTARE LA MODANATURA IN

PLASTICA ORIGINALE INDICATA IN FOTOGRAFIA D.

1. DESMONTAR LAS PIEZAS ORIGINALES QUE SE MUESTRAN EN LAS IMÁGENES A Y B;
2. MONTAR LOS SOPORTES N° 1 COMO SE INDICA EN LA IMAGEN C;
3. MONTAR LA PANTALLA (NO INCLUIDA) COMO FIGURA EN LA IMAGEN D;
4. COMPROBAR QUE TODOS LOS TORNILLOS ESTÉN BIEN APRETADOS; RECORDAR VOLVER A MONTAR

LA MOLDURA DE PLÁSTICO ORIGINAL QUE SE MUESTRA EN LA IMAGEN D.

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

SUZUKI GSR600   2008

ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FÜR

 ANCLAJE ESPECÍFICO PARA

A
17

0A
 - 

A
17

0A


